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1. Failure to close a deal with a major supermarket might result in .
(A) display (B) discount (C) disagree (D) dismissal
2. The company has announced that the current model next year.
(A) discontinues (B) discontinued
(C) will discontinue (D) will be discontinued

3. The e-mail owes its popularity the general concern for the safety of
children.

(A) up (B) to (C) in (D) of
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4. Although her purse was at the coffee shop during the entire drive home,
1t was not until

she arrived at the house she remembered leaving 1t there.
(A) did (B) that (C) when (D) where

5. The Australians have won three gold medals two silvers in the swimming
events.

(A) neither (B) nor (C) and (D) either
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